
■ 次の計算をしなさい。

① (－4𝑎)³ ⑧ 2𝑥²×𝑦³×4𝑧 ⑮ (6𝑥)²×5𝑦

② －4𝑥×(－5𝑦)×(－3𝑧²) ⑨ 4𝑥²×(－2𝑦²) ⑯ －2𝑎𝑏×9𝑐

③ 4𝑎³×7𝑎² ⑩ 8𝑥𝑦×9𝑦𝑧 ⑰ －4𝑎×6𝑏

④ 𝑥²×(－6𝑦)×(－2𝑧²) ⑪ －(3𝑐)³ ⑱ －6𝑎𝑏×𝑎𝑏²

⑤ (5𝑐)² ⑫ －𝑎×7𝑎² ⑲ 5𝑥×(－3𝑦)×(－2𝑧)

⑥ －4𝑎²×8𝑏 ⑬ 2𝑎𝑏×9𝑎 ⑳ －7𝑎²×(－6𝑎²)

⑦ 6𝑦×(－3𝑦)×5𝑦² ⑭ －(9𝑥)² ㉑ 2𝑥×(4𝑥)²
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■ 次の計算をしなさい。

① (－4𝑎)³ ⑧ 2𝑥²×𝑦³×4𝑧 ⑮ (6𝑥)²×5𝑦

② －4𝑥×(－5𝑦)×(－3𝑧²) ⑨ 4𝑥²×(－2𝑦²) ⑯ －2𝑎𝑏×9𝑐

③ 4𝑎³×7𝑎² ⑩ 8𝑥𝑦×9𝑦𝑧 ⑰ －4𝑎×6𝑏

④ 𝑥²×(－6𝑦)×(－2𝑧²) ⑪ －(3𝑐)³ ⑱ －6𝑎𝑏×𝑎𝑏²

⑤ (5𝑐)² ⑫ －𝑎×7𝑎² ⑲ 5𝑥×(－3𝑦)×(－2𝑧)

⑥ －4𝑎²×8𝑏 ⑬ 2𝑎𝑏×9𝑎 ⑳ －7𝑎²×(－6𝑎²)

⑦ 6𝑦×(－3𝑦)×5𝑦² ⑭ －(9𝑥)² ㉑ 2𝑥×(4𝑥)²

－90𝑦⁴ －81𝑥² 32𝑥³

－6𝑎²𝑏³

25𝑐² －7𝑎³ 30𝑥𝑦𝑧

－32𝑎²𝑏 18𝑎²𝑏 42𝑎⁴

12𝑥²𝑦𝑧² －27𝑐³

－60𝑥𝑦𝑧² －8𝑥²𝑦² －18𝑎𝑏𝑐

28𝑎⁵ 72𝑥𝑦²𝑧 －24𝑎𝑏

－64𝑎³ 8𝑥²𝑦³𝑧 180𝑥²𝑦
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